



Vendor Ranking

Page 1 of 1

Letting: 01240118 January 18, 2024 11:00 AM **Call Order:** 002 **Contract:** E1W63-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43265017278 (*)

Contract Desc: Roadside Mowing, Litter Removal, Edging, and Chemical Mowing

| Ran | k Vendor | Bid Type | Bid Status | Total Bid | Percent Of Low Bid |
|-----|--------------------------------|------------|-----------------|--------------|-----------------------|
| 1 | TGA EQUIPMENT INC | Responsive | Winning bid | \$488,822.50 | 100.00% |
| 2 | MARKS EXCAVATING, INC. | Responsive | Non-Winning Bid | \$510,499.65 | 104.43% |
| 3 | M & M CONTRACTORS, INC. | Responsive | Non-Winning Bid | \$551,745.00 | 112.87% |
| 4 | SUPERIOR LANDSCAPING & LAWN SE | Responsive | Non-Winning Bid | \$564,110.50 | 115.40% |
| 5 | T & M LAWN-FENCE SERVICE INC | Responsive | Non-Winning Bid | \$690,575.00 | 141.27% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 01240118 January 18, 2024 **Call Order:** 002 **Contract:** E1W63-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43265017278 (*)

Contract Descr: Roadside Mowing, Litter Removal, Edging, and Chemical Mowing

The work under this Contract consists of Roadside Mowing, Litter Removal, Edging and Chemical Mowing.

| Line No / Item | | Quantity Units | (1) TGA EQUI | PMENT INC | (2) MARKS EXC | AVATING, INC. | | NTRACTORS, |
|--------------------------------|-----------------------|-------------------|-----------------|------------|---------------|---------------|------------|------------|
| • | is bid as Lump Sum | C ime | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTIO | N: 0001 (| LARGE MACH | IINE MOWING (AC | • | | | | |
| 0005 E107 1 LITTER REMOVA | | 13,695.000 AC | 11.00000 | 150,645.00 | 11.45000 | 156,807.75 | 14.00000 | 191,730.00 |
| 0010 E107 2 MOWING (LARGE | | 8,686.000 AC | 18.00000 | 156,348.00 | 18.10000 | 157,216.60 | 20.00000 | 173,720.00 |
| 0015 E107 2 MOWING (SLOPE | | 130.000 AC | 75.00000 | 9,750.00 | 84.50000 | 10,985.00 | 65.00000 | 8,450.00 |
| 0020 E107 2 MOWING (INTERI | 3 MEDIATE MACHINE | 289.000) AC | 60.00000 | 17,340.00 | 62.10000 | 17,946.90 | 62.00000 | 17,918.00 |
| 0025 E107 2 MOWING (SMALL | | 143.000 AC | 60.00000 | 8,580.00 | 59.10000 | 8,451.30 | 65.00000 | 9,295.00 |
| 0030 E110 32 EDGING | 2 | 928.000 MI | 99.00000 | 91,872.00 | 112.00000 | 103,936.00 | 50.00000 | 46,400.00 |
| 0035 E580337 HERBICIDE (MOV | 8 VER APPLICATION) | 2,171.500 AC | 25.00000 | 54,287.50 | 25.40000 | 55,156.10 | 48.00000 | 104,232.00 |



01/18/2024

Tabulation of Bids

Page 2 of 5

| Letting: | 01240118 J | January 18, 20 | 24 C a | all Order: 002 | | Contract: | E1W63-R0 | |
|----------------------|--|-------------------|----------------|-------------------|--------------|----------------|------------|------------------|
| Line No / Item | | Quantity Units | (1) TGA EQI | JIPMENT INC | (2) MARKS EX | CAVATING, INC. | ` ' | ONTRACTORS, INC. |
| () indicates item i | s bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION 0001 LAN | N: 0001 RGE MACHINE Se MOWING (AC) | ` | IINE MOWING (A | C \$488,822.50 | | \$510,499.65 | | \$551,745.00 |
| | Contract Gra | and Totals: | | \$488,822.50 | | \$510,499.65 | | 551,745.00 |



Page 3 of 5

Florida Department of Transportation



Tabulation of Bids

| Letting | g: 01: | 240118 J | lanuary 18, 20 | 24 Cal | l Order: 002 | | Contract: | E1W63-R0 | |
|----------------|----------------------------|-------------------------|-------------------|-------------------------|--------------|------------------------|--------------|------------|------------|
| | No / Item ID Description | Alternate | Quantity Units | (4) SUPERIOR L & LAW | | (5) T & M LA SERVIC | | | |
| () inc | dicates item is bid | as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION: | 0001 | (LARGE MACH | IINE MOWING (AC | ; | | | | |
| 0005 LITTER | E107 1 1 REMOVAL | | 13,695.000 AC | 13.00000 | 178,035.00 | 18.00000 | 246,510.00 | | |
| 0010 MOWIN | E107 2 1 IG (LARGE MAC | CHINE) | 8,686.000 AC | 24.00000 | 208,464.00 | 15.00000 | 130,290.00 | | |
| 0015 MOWIN | E107 2 2 IG (SLOPE) | | 130.000 AC | 96.00000 | 12,480.00 | 200.00000 | 26,000.00 | | |
| 0020 MOWIN | E107 2 3 IG (INTERMEDI | ATE MACHINE | 289.000 E) AC | 66.00000 | 19,074.00 | 200.00000 | 57,800.00 | | |
| 0025 MOWIN | E107 2 4 IG (SMALL MAC | CHINE) | 143.000 AC | 66.00000 | 9,438.00 | 200.00000 | 28,600.00 | | |
| 0030 EDGINO | E110 32 2 G | | 928.000 MI | 70.00000 | 64,960.00 | 100.00000 | 92,800.00 | | |
| 0035 HERBIC | E580337 8 CIDE (MOWER A | APPLICATION) | 2,171.500) AC | 33.00000 | 71,659.50 | 50.00000 | 108,575.00 | | |
| | | MACHINE Se WING (AC) | ection Totals: | • | \$564,110.50 | | \$690,575.00 | | |



01/18/2024

Tabulation of Bids

Page 4 of 5

| Letting: | 01240118 Ja | anuary 18, 20 | 24 C a | all Order: 002 | | Contract: | E1W63-R0 | |
|---|-------------|-------------------|---------------------------------------|----------------|-------------------------------------|--------------|------------|--|
| Line No / Item ID Alternate Quantity Item Description Units | | Quantity Units | (4) SUPERIOR LANDSCAPING & LAWN SE | | (5) T & M LAWN-FENCE SERVICE INC | | | |
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount | |
| Contract Grand Totals: | | | | \$564,110.50 | | \$690,575.00 | | |



01/18/2024

Tabulation of Bids

Page 5 of 5

Letting: 01240118 January 18, 2024 **Call Order:** 002 **Contract:** E1W63-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.